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The defendant has raised the affirmative defense of mistake of age.   To establish this affirmative defense, the defendant must prove that each of the following statements is more likely true than not true:

(1)
the defendant believed the victim to be 16 years of age or older; 

(2)
the defendant's belief was reasonable; and

(3)
the victim was not under 13 years of age.

The burden is on the defendant to prove this mistake of age.  The defendant does not have to prove mistake of age beyond a reasonable doubt.  Rather, the burden is on the defendant to prove mistake of age by a preponderance of the evidence, which is a lower standard than beyond a reasonable doubt.  It means "more likely true than not true."

If you find that the state has proved beyond a reasonable doubt each of the elements of the crime of assault in the third degree by causing physical injury to a child under 16, charged in count _____, but you also find that the defendant has proved by a preponderance of the evidence the affirmative defense of mistake of age, then you must find the defendant not guilty on that count.

USE NOTE

The affirmative defense applies to a charge under AS 11.41.220(a)(3).


